(siA] ASIA BOLT CO., LTD.

ANABOL

Mg FZE Modeld] |2 A,

Tetratier) : :
Clamfix Vs. Machine Screw
H| 3l TEST 23 B 1A
2 X
* AY L=
1) TeSt HBeueniieieeieieeeeeenenns 2 Page
2) Test BHE uveeiiiieieieeeeeenen, 3 Page
3) Test 2D uverniinieennn... 4~5 Page
4) A& AF2(Clamfix Screw).. 6~8 Page
% B2 XI=(Test Data)....... 9~16 Page
MASIAg & OtMIOF 2 E
e AT} 2010. 11. 22.
R A HES TEL : 032-818-0234

FAX : 032-818-6353
FAQIHBAA LER
DES 645-8 HS2E

76B 9L




1. Test M

ASlABOLT ( 1-1) Test == GSA ASIA BOLT CO., LTD.
A

Tefastmerleer > Clamfix Screw2l MEE 2AdH &3l Al X8 U214 9l DATAS &=
5101 I8

1-2) Test 2+

1) THAI2 A =3 Test® BossE D& A2 &, S Driver(HM & Torquegt

Setting)E 0l2dll X (XMZ& Torque:1.2 Kgf.cm), oA S
Bt=6t0] etS SE st

2) Chip 24 SZ: THAIEE SF Al, &UE

20l HSS0IE UL HZ
CHHE Z Chip 28 &= Check StL.

Chip &0|& HE &0|

N

AIE 20l HE S0E W
D AHZE YHER Chip M
&2 Check StCt.

TestE BossE 1A AlZIL.




2.

Test &

(@siA ASIA BOLT CO., LTD.

ANABOLT ( 2-1) Test th

TeFastenertfater)

[

M2 Error &M
= 6001-0018112 MIZ Al HS

d2Y Y= DataE S&t
Clamfix Screw A2 H| 2t

2l
of
5)
-
=

=2 5t =2
- TT oS M
& Mg
P 33| &3 (Hv 89,90,92)
XZ& Point 7 Point: 1 Point(HIZS)
Screw J|Z& Machine 6001-001811
= Clamfix M1 4 2 2 E
Hole JI= AtEH M1.4 Machine Tap Jt=




3. Test 21l SR ASIA BOLT CO., LTD.

ASABOLE § o1z

Tekastenertfater

1) HAI2 A Test 21
(1) == &8I0 & Al, Machine Screw(& ® Ave=0.75 Kaf.cm)0ll Hloll A

|

> Clamfix ® & Al, & 88%(& Al Ave=1.41 Kgf.cm) S =&

(2) =2 BESGHX ZDI20) HZ Al

2> HMZ0= 3H SHEO0| LUotX| RFAXCH THAI=ZH ANMH=E H S0 4E JtsHO0l
CESt A FE0| HAI &30 MZ Al Chlp LME0l =2 F
. Metd M2 Al, =% 880610 MZ6t= 20l SotChl THEL

y T

2) MZ Al, ©HE Chip 42 HL(K2 FE)

(1) == FE30 MZ Al,

Clamfix 2 Machine Screw 25 13| M Z ol Ml Al0l= Chip0| 42| &A5IX QUL
HI=<otHl Z243IALH

st 2~53 8= M2Z il Al Al0l= Clamfix £ Machine Screw Chip2 4l

N

(2) =2 BESGHX ZDI20) M2 Al

> =& HE0| =X &1 M2 Al(Clamfix, Machine Screw)il= 2t &H 22 Chip0l CHg &
OfRACH Chipl] &2 Z System&t 2XIOt 2 dE JtsH0I A T20 M2 Al, == Z&5t
0f MZ5t= 20l SL5HCHD BEHEICH




3. Test 21l GBS ASIA BOLT CO., LTD.

3-2) Test 21t
Machine . \

‘@~

3) MZ SHE &©X Hlw

(1) M1.4 Machine Tap0il Clamfix ®MZ Al,

-=> g 20| Machine Screw0l HI 8 Clamfix Screw?| 28 HAEQ| 30 NS & 4= UL
Ol 28 A L XS0 oo 2 X0 A RX0|CH 8 Nylok Patch)l &2 26l
Xl &0t S0 SHN AT K2l5HCH

\_ /




4. HZ AL (Clamfix Screw) GSA ASIA BOLT CO., LTD.

ASIABOLT 4-1) Clamfix Screw =& Al, Data

TreFastnerllier > Machine Screw0ll HIGH A £2 TorqueatOl =20 (Machine CHHI 2 88% =8), £t
/ A INANG/ - —_ - =

=040l J = [Machine ScrewH= 22| Nylok PatchJt ZQ38tXI &J| I 20l R 2I5HCt
LSt Chip 2T Machine tHH| SS¢8t =F0/2= Machine Screw=Z2Lt &2 0| &
Ol AULCH.

4-2) Clamfix Screw thread is...

M
AL

Bl

Clamfix Screw= @OHMIOF ZE0 2l JqeH=
Insert Al 2 HE LIARM 2ILILCL

Clamfix Screw
Machine Screw

Clamfix Screw Machine Nyvlok Screw
D4 :
3) /30 I
. I
0.07 L !
10 2 :
10" | |
_____ T === == - ——LIARE
‘4 0.08 |
) 0.3 Pitch L

@ Az A3 N SUAS DR S Be
/>eluAeiel Hete A Aatoil 2l 1




4. AE A2(Clamfix Screw) GSA ASIA BOLT CO., LTD.

ASIABOLT ( 4-3) Clamfix Screw X2 &2l

- Clamfix Screw?| LIAIAS 2tE 242 10 & 302 &2 2 H&EGIH JIE2
Screw MIZ Al HAB 2 2O6IH 22 S0 28t ASI&ES TSH 26 MZ0|
K= S A2 = A S SHLL.

TeFistenerllater

Clamfix Screw
Machine Screw

AzEss | [ Mz

ne
]
]
JU
.
o

—> Op2e 0o

G

72 Al Clamp Loadol /5t 2t

AZ 22  Oparal o ofLl et LA DIA S0Hgt

A5 [ S®ot otLi2t & 9 & S0l o/t 52
MNE = ACERZ PE Y




4. AE A2 (Clamfix Screw)

@siA] ASIA BOLT CO., LTD.

ASIABOLT ( 4-4) Clamfix Screw2 & &

Clamfix Screw Vs. & Bt Machine Nylok Screw

Cause

Nylok Patch 2 2 #&

It BE 24

HESE LA 2t
L5 Test S0 %

M 3 Settl &S Jis
> & XA (Torque)
HEER&E



* B2 NUZ2(HAIRLE =) « ASIA BOLT CO., LTD.
(MZ Torque: 1.2 Kgf.cm)

2> M2 Al, =% 26t HZE. . Chol: 21

g Hole Tap LEAF LEAF Ma8d Test
Screw No. L3 23 20l 18] 28| 33l 43| 53l Ave
#1 1.09 - - Hl 2&0lI2t Test A2/ (Chip 24 & £J1)
#2 1.08 1.36 2.78 0.84 0.64 0.70 0.76 0.80 0.75
Machine #3 1.09 1.36 | 2.86 | 0.87 | 0.70 | 0.66 | 0.84 | 0.91 | 0.80
Screw

M1 4¢3 #4 1.09 1.36 | 2.85 | 0.74 | 0.69 | 0.69 | 0.78 | 0.85 | 0.75
(6001-001811) | 45 1.12 1.35 2.82 | 0.72 | 0.73 | 0.72 | 0.88 | 0.94 | 0.80
#6 1.12 1.36 | 2.78 | 0.63 | 0.61 | 0.65 | 0.71 | 0.78 | 0.68
#7 1.11 1.36 | 2.83 | 0.70 | 0.69 | 0.71 | 0.78 | 0.80 | 0.74

Ave 110 | 1.36 | 2.82 0.75 Do.68 | 0.69 | 0.79 | 0.85(0.75 )
#1 1.10 - - Hl &S0l Test X2l (Chip 24 53 £

#2 1.08 1.38 2.91 1.32 1.47 1.55 1.60 1.64 1.52
#3 1.09 1.38 2.86 1.24 1.26 1.35 1.40 1.46 1.34
Clamfix
Screw #4 1.08 1.38 2.88 1.21 1.28 1.34 1.39 1.49 1.34
M1.4%L3
#5 1.1 1.38 2.90 1.18 1.28 1.41 1.52 1.51 1.38
#6 1.1 1.38 2.91 1.28 1.43 1.47 1.52 1.61 1.46
#7 1.1 1.38 2.90 1.30 1.32 1.38 1.40 1.58 1.40

Ave 1.10 | 1.38 | 2.89 ((1.26 |)1.34 1.42 | 1.47 | 1.55( 1.41 )




* B2 NUZ2(HAIRLE =) « ASIA BOLT CO., LTD.
(MZ Torque: 1.2 Kgf.cm)

> MZ Al, == FZ6HK 2D0I20) MZE.

* &H2l: 200](mm), Torque(Kgf.cm)

E Hole Tap LEAH LEAH M B84 Test
Screw No. L 23 20l 13| 23| 33 43| 53 Ave
#1 1.08 - - Hl 250|2t Test M2 (Chip £ =& £I1)
#2 1.07 1.36 285 | 117 | 1.14 | 114 | 119 | 1.19 | 1.17
Machine #3 1.08 1.37 28 | 0.88 | 0.93 | 1.06 | 1.14 | 1.09 | 1.02
Screw -
M1 493 #4 1.09 1.36 281 | 090 | 1.15 | 1.01 [ 1.00 | &= | 1.02
(6001-001811) | #5 1.11 136 | 285 | 117 | &= 1.17
#6 1.10 1.38 28 | 1.20 | 1.00 | &2 = 1.10
#7 1.10 1.37 280 | 0.90 | 1.11 | 1.21 | 1.18 | 1.10 | 1.10
R
Ave 109 | 137 | 2.84 (G.oa Doz [ 111 [ 143 | 11310
#1 1.09 - - Hl 2S0l/2t Test M2/ (Chip £ =& £0t)
#2 1.08 1.38 288 | 1.26 | 1.10 | 1.36 | 1.35 | 1.31 | 1.28
, #3 1.08 1.38 290 | 1.15 | 1.14 | 112 | 1.29 | 1.32 | 1.20
Clamfix
Screw #4 1.09 1.38 286 | 1.00 | 1.29 | 1.34 | 1.49 | 1.16 | 1.26
M1.4%L3
#5 1.11 1.38 284 | 119 | 1.36 | 1.39 | 1.11 | 1.00 | 1.21
#6 1.11 1.38 287 | 130 | 1.21 | 1.40 | 150 | 1.35 | 1.35
#7 1.11 1.38 285 | 1.21 | 1.14 | 119 | 1.24 | 1.10 | 1.18

Ave 110 | 1.38 | 2.87 Q.19)1.21 1.30 | 1.33 1.21(1.25 |)




x~ &= =X

* B2 UZ(HAMEE =3) * ASIA BOLT CO., LTD.

( -"DEd Torque: 1 .2 Kgf.Cm) * &2l 20/ (mm), Torque(Kaf.cm)

=] I _— o LA A& 24 Test(Ave)

S Wa | 2B | 20l | 45 | 28 | 33 | 43 | 53 | Ave
Msagrgivr\‘/e = Mg 1.10 1.36 | 2.82 | 0.7510.68| 0.69 ] 0.79 | 0.85 | 0.75
M1.4+(3 e r ot Ore

G001 00ia1) | *==mes | 1.09 | 1.87 | 2.84 [ 1.04 | 1.07 | 1.11 | 113 [ 1.13 ] 1.10

Clamfi Zeel | E] 1.10 1.38 | 289 | 1.26 | 1.34 | 1.42 | 1.47 | 1.55 | 1.41
amfix Screw
LllEais sxmzoe | 110 | 1.38 | 2.87 [ 1.19 | 1.21 | 1.30 | 1.33 | 1.21 | 1.25

1.7
15
......................................................... Ave
A S, .
.......... T b Ay \K
13 L —il il
N it
A i
s 0.9
P ——
—— TAH (Machlne}) .................... 07 ................. Ave M

12 Bz 23 B 32 B 43 Bz 53 B

1
JA
02
e
Q'E
2
é
Uy
=
<
Q
O
0
=)
D
wn
(@]
3
=3
2
=
=1l
O
Q0
3
x
wn
(@]
@
=3
1o

e
ou
_|
e
o
[
CD
S
(0]
(0]
X
i
=
J|>|I

AL




HZ X2 =% & ot¢ X2

#2 Hole #3 Hole #4 Hole #5 Hole #6 Hole #7 Hole

13| W& &

2~52| M2Z2 & oAl




ASIA BOLT CO., LTD.

X HE ol HZ Screw: M1.4%.3 Clamfix Screw & dll Ni &2, M2 Torque: 1.2 Kgf.cm

#3 Hole #4 Hole #5 Hole #6 Hole #7 Hole

13 W& &

2~53| M2 & oAl




ASIA BOLT CO., LTD.

XN YE oKl &1 MZ

13 W& &




ASIA BOLT CO., LTD.

Screw: M1.4*L.3 Clamfix Screw &l Ni &2, MZ Torque: 1.2 Kgf.cm




* B2 2 (HZ &H Hlw) * ASIA BOLT CO., LTD.

M1.4 Machine Tap0il
M1.4 Clamfix Screw M2 £ &H A

18 MZ Al 2~53| ®MZ Al s LY Al

M1.4 Machine TapOil
M1.4 Machine Screw HZ& & ¢t

2
>
>

18 M2 Al 2~58| ®MZ Al 2= LY Al

“:>:l%'ﬂ} 20| Machine ScrewOfl HI8H Tap0ll ¥EE/= S0| ACH 0l= FE L A0 28 Z2 X0 AOA STHOICH



